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Topic:- Grad_Nutrition and Health

1) Which of the following people are least likely to need a vitamin/mineral
supplement?/ 398 ¥ &= @i # faerfm/afe T Re 3t smazasar g4 & griTar
a9 FH 82

1. Pregnant or breast-feeding woman/ e} a1 IuT B BT W
2. Vegans/ Yx R EARIE

3. Male athletes/ J3§ Tydiic
4. Dieters on restricted energy intakes/ g Soit g EREWTQ%, ST B Xg AT

Correct Answer :-

. Male athletes/ G3¥ Tydiic

2) Which of the following should a woman avoid while she is pregnant?/

mifaddt Wit 3t TufaRn & R 3E I R gue @
1. Smoking cigarettes/ RRe W1
2. Inadequate prenatal medical care/ Kilepafiee) W-Uﬁ fafercita v

3. Being under 20 years/ 20 a8 ¥ &H 3
4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad
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Who are the beneficiaries of National prophylaxis program for prevention of
blindness due to vitamin A deficiency?/ faerfiF A &1 &1 3 81 arelt 3r=EaT Ft
APUTH & AP AMERIY PrApd S ArHTl o149 32

1. Pregnant mothers/ THad ATamg

2. Old age population/ g&sIq

3. All children from 6 months to 6 years/6 Hig J 6 9% dp & gt I
4. Adolescent girls/ =it

Correct Answer :-

« All children from 6 months to 6 years/6 ﬂ]‘s’@f 6 ¥ do & g I

4) Disease prevented by immunization is known as:/ gfavefieur A o I+t
JAHYUTH Bielt & 2 FEd o

1. Vaccine Prevented disease/ IR PRI

2. Prevention of Non communicable disease/ 3{eRURIE I Dt AHUH
3. Prevention Nutrient deficiency/ UINe& dcdi dI HH! P AHUTH

4. All of the above/3udad I+

Correct Answer :-

« Vaccine Prevented disease/ IR FARifea I

5) Following are the main causes of PEM amongst children:/ §=i § PEM &1
BT BT T 32

1. Delayed complimentary feeding/ Tx& 38R ¢ ¥ fddid
2. Infection and Infestation/ HshHUI Td T

3. Primarily Energy deficiency/ UIfAHd: Sl Bl HH

4. All of the above/ Iudad T+t

Correct Answer :-

« All of the above/ Iudad i

6) Which vaccine is given according National Immunization Schedule after 6

weeks of Birth?/ 51 Aferafte<or Srfha & AR 970 & 6 HWTg 91 HIF-4T
I I ST @7

1. DPT

2. OPV
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3. BCG if not given at birth/ BCG, af¢ S o ¥#g = far 7 gt <
4. All of the above/3dad It

Correct Answer :-

« All of the above/G'quGﬁ gt

7) The energy requirements of a lactating woman is based on energy needed

to:/%a?mwww%maﬂwﬁsmm P forQ Smazge St wR smurfyd
gt 2:

1. Maintain weight and body composition/ YR Td TR HT o HIAH I8+
2. A level of physical activity/ IRIN® Tfafafedl & T TR

3. Breastmilk production/ W@H% Jdlad

4. All of the above/3dad It

Correct Answer :-

« All of the above/G’qg?H gt

8) What are the common diseases caused by Viruses?/ ﬁuwjah ¥ g ara 3
T T 72

1. Hypertension/ 3= Ya&ddl4
2. Diabetes/ I{ﬂ'ﬁ%’

3. Obesity/ AleTd

4. Hepatitis/ gucrsfed

Correct Answer :-

« Hepatitis/ gUemgicd

9) AIDS is contagious disease:/ TSH T® THIH® I 3
1. True/ Gl

2. False/ TTdd
3. May be/ Mg
4. None of the above/ SWRIFd & I Elﬂ"scq"apr

Correct Answer :-

e True/ ¥I€°[
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10) Personal protective equipment important for health care worker to be

worn while in tuberculosis ward include:/ SIERPATIT a18 W WRA HRAIGAT B
it SfRTTd YRET IUHIVT Ug-A A1 eY S0 e 2

1. N 95 respirator/ N 95 TR
2. Surgical mask/ gfiferd A
3. Both of the above/ SWRIad G
4, Kitchen apron/ @'st HhT WY

Correct Answer :-

. Both of the above/ SWRIFd gl

11) A pharmacological dose (mega dose) of a vitamin is defined as an intake

of more than:/ fdeIfi & wHiEATNEd GRS (W GIIH) B ¥ 3iftrs &
I=TIEUl & ¥ H ufvHTiya fpar war

1. Two times of RDA/ RDA & GN[H
2. Five times of RDA/ RDA & Uid T+
3. Ten times of RDA/ RDA & & ﬂef

4. One hundred times the RDA/RDA & I TH

Correct Answer :-
. Ten times of RDA/ RDA & &d TH

12) As per ICDS scheme the calories provided through nutritional
supplement scheme to children till 6 years of age:/ ICDS A5l & IR, 6 T4
TH & ol B RSP WYUT o1 & q1ead | &t 9 arelt Faidal s 4 8

1. 300 kcal/ 300 fHaaraR!
2. 700 kcal/ 700 fraidmant
3. 100 kcal/ 100 fraimat
4. 250 kcal/ 250 fHaipant

Correct Answer :-

« 300 kcal/ 300 fhaibaRt

13) Deficiency symptoms such as respiratory infection, gastrointestinal
disturbances and blindness are related to the role of vitamin A in:/ Tddd dd
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& WHHUI, TS TSafSTT 3R 3UaT Y AT F T&Ir ¥ faerfiq A
YT § g=fRe 8

1. Promoting growth/ ?{@ Eal Jeldl o
2. Maintaining healthy tissues/ WX 3d® CRIIMERCE]
3. Acting as antioxdicants/ TUSI3fRitee & ¥U H &1 B

4. Blood clotting/ Y& &1 gl STHA

Correct Answer :-

« Maintaining healthy tissues/ WA &Hddh dHUT G

14) An example of complete proteins is:/?ﬁ'{uf U $T TP IS 8:
1. Egg protein/ 303 HT UleH

2. Wheat protein/ ﬁE CAR* |G

3. Maize protein/ Hd®T &1 W

4. All of the above/Iudad Tuft

Correct Answer :-

« Egg protein/ 308 HT UleH
15) In acute diarrhea:/ &0 3% H:

1. There is bacterial and parasite infection through contaminated food and water/

T HIST Td o & J1ead § Siarupeh SR wReifadl o1 GehHuT 81 Sl §
2. There is PEM and deficiency of B complex/ PEM BId1 & 3R B BT B! HH Bl §
3. Celiac disease/ Hiferaes AT
4. Lactose intolerance/cacIel SRR

Correct Answer :-

« There is bacterial and parasite infection through contaminated food and water/

TG HISH Td S1d & ATed 9§ Shargsil iR Rehiadl &1 Hehdul g1 Irdl &

16) The recommended dietary allowance for iron for a pregnant woman as

per ICI\%/IR 2010 is:/ ICMR 2010 & 3JaR THadl Wl 7g MR B RIRTa Ry
3rqufd @8:

1. 35 mg / day/35 fin/fea
2.25 mg / day/25 famn/feq
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3.45 mg / day/45 fimn/feq

4.20 mg / day/20 fimm/feq

Correct Answer :-
« 35 mg / day/35 famn/fea
17) CANCELLED

Which statement stands correct with regards to following a vegetarian diet
and breast feeding?/ MHIER BT UTd- H 3R FTUME HIA & a4 # 5990 q PiA-
T $Y T8t 82

1. A vegetarian diet that contains dairy or eggs is usually complete/ q/gw®I 3del 3R
VST Y Yo WMHTER AR W qUf giell &

2. Vitamin B12 supplements maybe needed/ facif&= B12 W DI MAGDHdl IS bl g

3. Include foods that are rich in protein, iron and calcium/ g E‘I:i, MR 3R HiqH B
YRUR T a7 Wre U =i &

4. All of the above/ G‘W@Hﬂ gt

Correct Answer :-

« All of the above/ wéaa gt
18) Complete the following - ICMR:/ ICMR &T Q3T ATH ddI¢|
1. Indian child monitoring rate/ f&a- A¥eE HIHCRA X (URAT &Td FTRHT &)

2. Indian council of medical research/ SfeTT S 3 nfswd Rad (lﬂ??ﬂﬁﬁlm
ST URug)

3. International child mortality rate/ SCI-RMA ATSes HAlCIAC! X€ (&m@qu@m
4. None of the Above/3uddd # ¥ HIg ol

Correct Answer :-

« Indian council of medical research/ 3f&a HIIRIA 311w Afgewd o (W fafeen
ST IRYT)

19) Which of the following is a communicable disease?/ 3H 4 P9 TP
TR I 32

1. Rickets/ WH
2. Scurvy/ Thaf
3. Marasmus,/ TRIAY
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4, Cholera/%\_rﬂ

Correct Answer :-

. ChoIera/%TrIT

20) B-complex vitamins and ascorbic acid can be broadly classified as:/ B-

S faerfiEl ok wifd® sra o 3t Joft & van o 9@t &
1. Insoluble vitamins/ 3geHRId faeTHA

2. Fat soluble vitamins/ a7 & gﬂﬂ-‘&ﬂﬂ ICEIEE]

3. Water soluble vitamins/ IR gﬁﬂﬂﬁﬁ?‘lﬁ:{

4. None of the above/ SWRI&d & ¥ B gl

Correct Answer :-

. Water soluble vitamins/ Sid # ger=ite faeram

21) The most common manifestation of carbohydrate malabsorption is:/

Pralgrzac PUITU BT I MW UHed o
1. Malaria/ Haifar

2. Typhoid/ C®IZS
3. Lactose intolerance/ Sideil 3gIdT

4. Fever/dUR

Correct Answer :-

« Lactose intolerance/ a?:@?ﬂ SgeIdl

22) Vitamin K deficiency is possible result of:/ faeIfiqa K & &+ 599 ¥ foad g
Jbdl %:

1. Kidney disease/ ¢ & 0

2. Antibiotic therapy/ Tociarifce fafdan
3. Presence of Phytates/ BT BI IufUfa
4. Insufficient intake of citrus fruits/Ried (g, w1, Al Mfe) Wl &1 A a4

Correct Answer :-

« Antibiotic therapy/ Todtaraifies fafear

23)
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Hormones responsible for positive pregnancy test:/ A®RTHD TYTaRIT e &
1. Estrogen/ TR

2. Progesterone/ TR0

3. Follicle stimulating hormone/ Hifdi@d TG gMHMH

4. Human chorionic gonadtropin/ gdH BRSNS ‘ilﬁélE:IlEEH

Correct Answer :-

« Human chorionic gonadtropin/ gdH+ BRSNS ‘ilﬁél@TlEEH

24) Dietary factors which increase iron absorption are:/ 3 3R HRF I
STIR FYTOr 9T 3 &

1. Ascorbic acid/ T&pifad 3T
2. Animal proteins/ Ug] WA

3. Optimum gastric acidity/ 3THRR &1 AgHaqy Sl
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/@ﬁfﬁ gt

25) Gestational weight gain is influenced by:/‘T‘l-I'fT:I@ﬂTﬂ?ﬂ? HR q@ T
yyTfad gidl &:

1. Food intake/ WIS & g

2. Level of exercise and energy balance/ dIH F TR 3R Wﬂf_djl?
3. Medical condition/ fafeaiig () fRufd

4. All of the above/ wéaa gt

Correct Answer :-

« All of the above/ Iudad Tt

26) What are types of malnutrition?/ 398 & $UITU & UHR i 82
1. Over nutrition/ ITHRT T 3{fYH TIYT

2. Under nutrition/ 9T ¥ &H Iy

3. Both of the above/ SURIad &I
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4. None of the above/ IWRIgd H I aﬂéﬂeﬁ

Correct Answer :-

« Both of the above/ SWRIad gl

27) Inclusion of at least 50 grams of GLV improves intake of? /FH-H-FH 50
YHGLVIMAAEAA P A=IIEYT 9gax &l odl &:

1. Vitamin A/ faeifiq A

2. Iron/ 3TARA

3. Calcium/ dfeRra™

4. All of the above/G’f@Tﬁ ekt

Correct Answer :-

« All of the above/3udad I+

28) What are the important aspects of Personal Hygeine?/ Sf&iTd WW3dl &

Heaqul Ugq FT 82

1. Washing hand before eating food/ YIS A ¥ U8 81y AT

2. Bathing daily/ RIS JH HRAT
3. Wearing clean and washed clothes/ 9T g g?rguaﬂ\a EPREEI
4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ I0ad i

29) Immunization is one of the important strategies to combat:/ Ufavefi@ur
P B TP Hedyul IV B

1. Malnutrition/ $UINUT &1 GhTael B
2. Children are protected from diseases/ I T AT DI gt

3. Both of the above/ SWRIad GHI
4. None of the Above/ wjaa T Bl T8l

Correct Answer :-

. Both of the above/ SR gl
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30) Certain environmental conditions can harm the healthy development of a
baby during pregnancy, have most detrimental effects during of

pregnancy./ $© Tafaruity fRufeat Tufarn & R g & w1 fasra ot eifa ugen
TPdl &, ITPT HATUP SIPRD UHTT THIGRIT & fFg =RoT & BT 8-

1. Foetal stage/ THS SaRIT

2. First 3 weeks following conception/ THYRUl & &g & Ugd 3 TS

3. Embryonic stage/ YUITax
4. None of the above/B‘qﬂTﬁ 7Y aﬁ‘% T8l

Correct Answer :-

« Embryonic stage/ YUIMTaRI

31) One of the most important advantage of immunization to children is:/

g & ufiRafievor 31 T gad Aeaqul aTy:
1. Death from dreaded disease/ WaRAT® AT H G B AHYUH
2. Prevents diabetes/ Hqﬁ"e’ B ADUH

3. Prevents common cold/ 3H Fl'qpf-w BT AHUH
4. None of the above/IWRIgd & ¥ HIs T8l

Correct Answer :-
. Death from dreaded disease/ TaRAIH AT ¥ G Dt AHUH
32) After getting a vaccination:/ AR [ F T1G:

1. The body never lets the same virus into it/ TR IT faT] HT Tad F Hfi-oft ey gax
T B AT R

2. The body always becomes ill for a short time/ TRR AR ?ﬁéﬁ J9g & fou dER g8
T §

3. The body gets used to a weaker form of a virus/ TRR ﬁ'ﬂle{[ & &ﬁ&m HAGIR =Y BT
319 B STl B

4. None of the above/s_Fl'Ef I Ebﬁ's‘ =|B°f

Correct Answer :-

. The body gets used to a weaker form of a virus/ TRR m% e«rﬁwm\—mwm
31X 81 S §

33) Which of these are single vaccines except?/ 394 I f&d Sis®? =g It
Rivra awi= &2
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1. Hepatitis B/ feUcrsfed B
2. Chicken pox/ EEED (ﬁlﬁ U\I'Tﬂ)

3. Influenza/ TURIUSIT
4, MMR

Correct Answer :-

« MMR

34) Which of the following is National Deficiency control program?/ ER ]

i, I gean e sriwd 32
1. National Anemia control program/ IS IeTedd! fAa=I0T HRIHH
2. Special Nutrition Program/ foxy gy Rl

3. National food for work program/ QT@?I HTH- B -IGA- 3T HIIHH
4. Composite Nutrition Program/ TffI% IVl HRI%H

Correct Answer :-

« National Anemia control program/ W@HWW PTAHH

35) An important nutritional problem affecting all segments of the population
in general and children, women and pregnant women in particular is:/ Ty 9

TR U AUl IH™T St JTATG: S8BT & 94 i &1 ok faiv &0 & 7=,
wfgenait iR wefad! afgensi & wuifaa w0 &:

1. Anaemia/ Yadledd]

2. Goitre/ HdT (TgeR)

3. Diabetes/ J-T‘iﬁ_&'

4. Hyperlipidemia/?ﬁﬂﬁﬁ%m

Correct Answer :-
e Anaemia/ Yadleddl

36) As per ICMR 2010 what are the dietary recommendations for beta-
carotene for an expectant mother?/ ICMR 2010 & 3dR, MHad! it & g dter-

PR B ety rgHfa fea-t g2

1. 6400 micrograms / day/6400 s u/feT
2. 8000 micrograms / day/8000 ATSHuH/feT
3. 5200 micrograms / day/ 5200 s o/ faA
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4. 4800 micrograms / day/4800 HATZH /A

Correct Answer :-

« 6400 micrograms / day/6400 ARSI/

37) Third trimester is main time for storage of:/ CIGEIRGE L *F HUSRU
P YT JHT §:

1. Iron, fat and calcium/ 3TAR4, T9T 3R HfRTH

2. Iron, calcium and folate/ 3R, HIqTH 3R Hide

3. Vitamin D, vitamin K and fat/ foerfim D, faeTfim K iR Tan
4. Fat, calcium and folate/ a3, HfeqgH 3R BHidc

Correct Answer :-

« Iron, fat and calcium/ 3I¥RA, 941 3R pfm

38) What are the measures taken by government of India's policy for
prevention of Vitamin A deficiency?/ faerfia A @t ot &Y ApuH & ﬁm HURA
WHR oI Hifa § F Iury e 7 §2

1. Promoting consumption of vitamin A rich food/ facif&= A | JH& IS & g+ &l Serdl
&l

2. Administering supplemental dose of vitamin A/ fd2TiiH A &t TR RIS &1
3. Treatment of vitamin A deficient children/ facIfi A &1 &4l aTd d=di BT ITAR HIAT
4. All of the above/3Sudad i

Correct Answer :-

« All of the above/3Iudad Tt

39) In Measles vaccine immunity develops after:/ TR P AR A &
a1g ufaren fawfia gidt 8

1. 11 to 12 days after vaccination/ Ti®I®0l & 11 ¥ 12 g9 918

2. After 1 month of vaccination/m &1 HTlg diq
3. After 15 days of vaccination/ SI&T®HRUI & 15 fad d1g

4. None of the above/ T:Fq?jaﬂ T3 o Tl

Correct Answer :-

. 11 to 12 days after vaccination/ SIHTHRUI P 11712 feqarg
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40) What are Non communicable diseases?/ 3HTRURNT I T gId %'?

1. Do not spread from an infected person to another/ Sl Td Hehfiid Afdd ¥ gUR HAfdd
&I T8l Bad
2. Pathogens are not involved/ fSH ISH® (YU =i 81 gld

3. These diseases may be caused due to dietary deficiency, hormonal imbalance,

genetic problems/ 3 AT S TERIT A3, BIAM SRIIeH, ARG THRS & BRI B
qHd §

4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3udad I+

41) Flourosis manifests mainly as:/ TR qord: _ & &Y # y&e gidl %:
1. Dental fluorosis/ & (@'EFT) TR

2. Skeletal fluorosis/ HHTAT (Thaled) FARIRTT

3. Both of the above/ JIWRIad G

4. Cardiac fluorosis/ gad (W%CW) TR

Correct Answer :-

« Both of the above/ RERCSRAR]]

42) Fatty acids essential for prevention of coronary heart disease:/ &4 YW+

IR BT AHYN & AT STazad T97 3 §:

1. Linoleic acid and linolenic acid/ fomifere s 3R foFRe ora
2. Triglycerides/ SB[ aERISSH

3. Trans-fatty acids/ ¢i-adT 3fkT

4. All of the above/ Judad Tt

Correct Answer :-

. Linoleic acid and linolenic acid/ famifeie 3t 3R foMaR® s

43) Activities, undertaken at the Government or local organisation level to
maintain health of the people (for controlling diseases) are known as:/ (ﬁ'lﬁ

P a1 S & f0) dl & WY & IAGREUT 7 IRPRI a1 AT JTS1 & WX TR
$t o4 arelt fafafiry st 84 o
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1. Community health/ ST WA
2. Occupational health/ TIHTId IARY

3. Institutional health/ IRINTd WY
4. None of the above/mﬁﬁ 73 aﬁé Te?f

Correct Answer :-

« Community health/ SRG&IR® @Ry

44) National Rural health mission was started in:/ IT§1g arHior w@rRy fiwe
T R forar T ut-

1. May 2004/ T 2004
2. June 2006/ S 2006
3. April 2005/ 30 2005

4. January 2007/S91d3t 2007

Correct Answer :-

« April 2005/ 3{Ud 2005

45) Heating or drying of fresh fruits or vegetables usually leads to
destruction of most or all of which vitamin originally present?/ dTdll Wl g

gfesral &Y T F a1 @M A AR R 3749 | P-4 faerfiE, s ey & IufRia o,
f¥resiera: a1 gt aRE IE & Sral 82

1. Vitamin A/ faeifi= A
2. Vitamin C/ faerfd= ¢
3. Vitamin D/ faerf®= D
4. Vitamin E/fderf® E

Correct Answer :-

« Vitamin C/ faerf#q C

46) Which is a limiting amino acid in pulse?/ gral # TR it erar wIa-|T
graT 82

1. Methionine/ AR
2. Lysine/ maR=
3. Tryptophan/ T?Qﬁﬂ
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4. Phenylalanine/ BH@Ta==

Correct Answer :-

« Methionine/ AR

47) During the first six months of lactation the ICMR has recommended

additional intake of:/ ICMR 3 WU & & ARHP T: HEHI & SR &
Sfafved a9 F =T 1 &

1. 600 kcal/600 fraimant
2. 700 kcal/700 foraibant
3. 650 kcal/650 faraibant
4. 800 kcal/800 faraibart

Correct Answer :-

. 600 kcal/600 fFadpaR

48) A natural biological process involving cellular and physiological
deterioration, increased vulnerability to disease and decreased ability to

adapt is known as-/ 98 WHfa® sifas ufrar fiad SR vd IR fraras g™
BT 8, 1 & ufd SRRféradar 9¢ WTdl 8 8k 3@ ad &t Jydr Ue Srd! &-

1. Ageing/ SRUT (TG )
2. Growing/ f{@

3. Multiplying/ dg[0H

4, Maturing/qﬁ'CIW
Correct Answer :-

« Ageing/ SRUT (31 de-l)

49) Adults require energy and proteins for: /UID] Bl a?ﬁlt{m'f Td
W B azgswar gl 8:

1. Maintenance and continuation of optimal metabolic and physical activities/ 3Ugad
T U9 RIS TAfaferl & I@R@d Td 35 SR 3@

2. Maintenance of biological functions and repair of tissues/ Sfde HTaf & TWR@G IUT
SAdb! D TR

3. Both of the above/ RERCSRAL]
4. Growth spurt/gfg & sHa-da & o ard IBTA
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Correct Answer :-

o Both of the above/ RUCIESRAGI

50) One approach of preventing Vitamin A deficiency in children is educating
the mothers to feed their children daily with:/ Il ® faerfiq A &) o &6t
ABUTH HIA Pt TP UG § STt ATATS B 30 T=l Bl e & forw
fféra w1

1. Wheat/ ﬁ‘é"
2. Rice/ d1dd

3. Green leafy vegetables and yellow and fresh fruits/ 83 TR gfesrdr 3R did @ arer
T

4. Maize/Hddhl

Correct Answer :-

« Green leafy vegetables and yellow and fresh fruits/ B TR gfesrat 3R did @ aren
Thd

51) They are also used for the formation of body structure and skeleton:/ 5%

TR F =1 vd Fprd & FAwmtor & forw ff war fear wirar @
1. Minerals/ @\
2. Vitamins/ faet#=

3. Fats/d9Tq
4. Carbohydrates/ ®IaIgIST

Correct Answer :-

« Minerals/ EEIE ]

52) Caesarean section is performed when?/ Hdreifvaa A== a9 forar Sran g S92
1. Labour is extremely difficult/ T¥d A% Hio 8
2. Mother's blood pressure falls rapidly/ ATdl &1 &g ol ¥ TR 8181

3. Foetus is too large for the mother's pelvic opening/ ATdT & HIOMgE &1 eF I miwr fREy
H1 HR 9gd JST Bl

4. All of the above/3Sudad Tt

Correct Answer :-

« All of the above/3udad Tt
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53) The science of food and it’s components, their actions, interactions and
balance within the body, it’'s utilisation for health and wellbeing is called?/

Yo 3R IS ged!, IR & e A1 foparadt, srafharsit aur =g+, TRy vd
FIEaT ¥ fog 3% Swa & fag= &t T o

1. Nutrition/ OIS0l

2. Absorption/ ST
3. Digestion/ UIdd

4. Utilisation/SUdI IR0l

Correct Answer :-

« Nutrition/ TS0

54) Which one of the followings is a water borne disease?/ 3H 4 P TP oA

arfed I 32
1. Tuberculosis/ Eﬂ?ﬁﬁﬁm
2. Malaria/ﬂﬁﬁfcﬂ

3. Cholera/ %Gﬂ
4. Chicken pox/ EEEY

Correct Answer :-

e Cholera/ %TrIT

55) CANCELLED

What all is true about milk, except:/ W%W | 1 919 e 82

1. It is low in iron but rich in calcium/ TH RA B HH TR~ HIcqdd DI 3HfASH AT BIt §
2. The main protein is casein and lactoalbumin/ $9&% H@Jtﬁ?ﬁ:l HE ﬁ?ﬁﬂ@@&ﬂ%

3. The main carbohydrate is lactose/ SHPT & mldelq\%c SESIE

4. It is rich in vitamin C/ S9H faeIf® C &1 WRQR I Bt §

Correct Answer :-

« It is rich in vitamin C/ SUH faeI® C ®T WRQR 961 Bt §

Topic:- Grad_General Knowledge and Logical Ability

1)
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The most abundant carbohydrate present in blood is:/ HTd IR | gaifes S a1 mﬁ'%?
JufRd EﬂT‘IT %:

1. Glucose / W
2. Lactose/ AIgerg
3. Starch/ €

4. Cellulose/ @W
Correct Answer :-

e Glucose / 1@?

2) The scheme MGNREGA comes under the - / T7GT Fi9T A9 & & freeh siaeta amar
g?

1. Ministry of Panchayati Raj / 9=l 05 H3TAX
2. Ministry of Rural Development / ITHtor faeme w3
3. Ministry of Social Justice and Empowerment / ATaTir =Im= i< strferepriar gamaa

4. Ministry of Finance / fa=t s

Correct Answer :-
« Ministry of Rural Development / arsfior farehmer w=merr

3) How many squares are there in the given figure?/ & 713 3nefa & fora i 82

1.7
2.12
3.10

4. 8

Correct Answer :-

4) A sum of Rs.7, 000 is divided among X, Y, Z in such a manner that the
shares of X and Y are in the ratio of 2:3 respectively and those of Y and Z are
in the ratio of 4:5 respectively. Share of Y (in Rs.) is:/ Uy 7,000 ) XY ARz
& U 3 YR fquTiora #t 18 3 fF X iR Y & e~ &1 squra shu=r: 2:3 qUTY iR 2 &

i #Tequa A ;581 Y PR @. M &
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1. 2400
2. 3000
3. 1600
4. 2000

Correct Answer :-

« 2400

5) In which year was the Swachhta Udyami Yojana launched? / T&=gar 3=t
FISTAT T AET HIAH 9 & galr?

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-
« 2014

6) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T Z4T & wigar €& sttarfaaw, 2005 qvaweft
e ¥ T Fear e 981 781 87

1. Both mental and physical harm is included in this Act / =& srfaf=aw & amtas vd
AT STIgTa QT AT &

2. It extends to whole of India except Jammu & Kashmir / 7 sfarfaas Sy 3w wewie
BIEHL ST AT | A6 &

3. Both of these / 3U<I=k 2141
4. None of these / =78 & g 7l

Correct Answer :-

« None of these / T78 & #IE 7l

7) What is the newsletter of the National Commission for Women called?/

TET ATZAT AT F TATE T T ATH F47 &7

1. Mahila Rashtra / @fg«r 719
2. Mahila Shakti / wfgaT erf<h

3. Rashtra Mahila / Trg wfg=T
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4. Rashtra Mahila Shakti / T1g wifg=r of<r

Correct Answer :-

« Rashtra Mahila / Trg wfgaT

8) Which of the following is the default page setup orientation of slide in

PowerPoint/ 18 #f @ &9 91 TR & ¥ WTss & fewiee Yy desrm =M @:
1. Vertical/aRfcamd

2. Portrait/dice

3. Both of the above/ SURIEd &Ml

4. Landscape/ﬁ%@q

Correct Answer :-

. Landscape/ﬁ%@q

9) How many members should a Child Welfare Committee have? / a1 <m0
Tfufa § fraw geer g9 91igu?

1.3
2.4
3.5

4.6

Correct Answer :-

10) Progesterone is secreted by-/ mﬁ'\‘?j—"l Wl'ﬁ'a ﬁ?lT %—
1. Pituitary gland/ ﬁ'{q et

2. Corpus luteum/ AL ?IQ_CITI |

3. Testis/ 3SHIY I

4. Thymus/ dIgHA I

Correct Answer :-

« Corpus luteum/ HUq ?If%ﬂ'q |

11) Which of the following schemes emphasizes more on children in need of
care and protection, juveniles in conflict or contact with the law and other
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vulnerable children? / % & & F9& FrsAT F ATATAT T T 9 Ffew giefaat # @ a
GG UF HLA FY FAeTwAT ATer AT Ay Frarfew v @heweq ag g2

1. Rashtriya Bal Swasthya Karyakram / T7gi= a7t TaTE2T FTHT

2. Integrated Child Development Services / @Rfraa arer &M TrsMT
3. Integrated Child Protection Scheme / TR THT TTeT HLLT FTSTAT

4. None of these / =¥ ¥ #Ts 7!

Correct Answer :-

. Integrated Child Protection Scheme / T¥feha Ter HT&AT AT

12) In which year was the Janani Shishu Suraksha Karyakram launched?/

ST FRTS] AT FTAFHT HIFE U & ET AT TI7?
1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-
« 2011

13) 11
What would be the compound interest (in Rs.) of Rs.24,000 for 2years
1

']_ —
at 10% per annum compounded half yearly?/Qﬂr& 24,000 &1 = a4 & o 10%
gforad ST 1t G W SHTE! VAT 1 W Tehgfs e (Fad T) 1 g2

1. 3,783
2. 3,680
3.4,150

4. 3,240

Correct Answer :-

. 3,783

14) The human body contains the maximum amount of: / HT-d YR o U1 |4 & SAR

gatfire @ gar §:
1. Proteins/ W

2. Water/ Sl
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3. Fats/ 94T

4, Plasma/ WITGHT

Correct Answer :-

e Water/ Sl

15) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / e faarg stfafaaw, 2006 F Tvetaa A= fawedi & & Toq
EER kIR poiay|

1. This law is also applicable to citizens of India beyond India / g sfafa=w w<a & arex
AT AR 9T AT A0 &

2. This law is applicable to whole of India / g stferfaa @ 9= § 91 &
3. Both of the above / 3T 3T

4. None of these / =#% & &I A&l

Correct Answer :-

« This law is applicable to whole of India / 78 srfaf==® ¥ 9% § A1 &
16) What is the work of Home key? /BIH & &1 &1 ®1I gdT 82

1. The letter on the right gets erased/aTs 3R aTel &R fie Srar

2. Cursors reach the end of the Iine/WFﬂ%q & 3fa H Ugd Sldl %

3. A new line is formed/Udh 0t NIEGEKE! STt %

4. Cursors reach the starting of the line /&R AET & Wﬁ ggd Sirdl g

Correct Answer :-
« Cursors reach the starting of the line /&R A & Ql??ﬁ ggd SIrdl g

17) DIRECTIONS: Find out missing number from the figures given below./

fdsn: S & it srpfaal ® g W= 3ra S

1@ 13 27 24 27 72
25 51 a4

1. 35
2. 36
3.37

4. 38
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Correct Answer :-

18) In how many categories do the Hindu Succession Act, 1956 classify
blood-relation between ancestors and children? / f2=g sTufasr safafaaw, 1956
TSl ST Tl 6 ST TH-Ha Bl fhad AT H ARG FaTv 572

1.2
2.3
3.4

4.5

Correct Answer :-

e 3

19) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’?/ @<t afafa (Trpam) srfefagw, 1987 & siqsia
5 & & = wigATSH *1 TA Y A H T@T ST FHAT B2

1. A woman being burnt alive along with the body of her deceased relative voluntarily

| T HIZAT It srqr gk Fvareefl F g F T 396 TogTId e STolT {997 ST ¥eT

2. A woman being burnt alive along with the body of her deceased relative forcibly /
U HIZAT (ST 7 gas Trawelt % g & 97 TaLaedT AT [ad7 37 ¥&T 8

3. A widow being burnt alive along with the body of her deceased husband forcibly /=
qfeT ST 9" g 9fd & ag % AT Taaed [ ST (<37 ST @ 8

4. All of the above / 3T T+t

Correct Answer :-

« All of the above / 3Td T+t

20) DIRECTIONS: Complete the series by choosing right figure from the given

choices./ fq=r: fau e fawedl & & O faweu &1 999 T+ Avft & T B9

D|BD) -

(a) (b)) (c) (d)

®
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v
o
®

4.

Correct Answer :-

21) Cervix is situated between-/¥1aT (Cervix) fRId gidr 8-
1. Oviduct and uterus/ 3(USATRT aul T & A

2. Vagina and uterus/ it aur iR & A

3. Vagina and clitoris/AT TUT HIFRRT o He

4. Clitoris and labia/HTRYR YT AferdT &b HA

Correct Answer :-

» Vagina and uterus/ T qUT THIRE & 7e

22) Pointing to a girl, Mohan said, “She is the daughter of my grandfather’s
only daughter-in-law”. How is Mohan related to that girl?/wmaﬁ 3R
SIRT HRd §¢ I A gl a8 X Teroil &1 THUTT THay &1 Gt 1 g 39 asot | fpa
THR T 8?2

1. Brother/ﬂ-ﬂ'si

2. Uncle/dTdl
3. Cousin/& oM
4. None of these/‘s?lﬁﬁaﬂ'stﬂﬁ

Correct Answer :-

. Brother/ﬂ-ﬂ'si

23) What is the minimum amount that can be submitted in a single year in a
Sukanya Samriddhi account? / T% I & gF=a1 afg @1 § Aeraw frasft afer & s
TRt ST 9har 82
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1. Rs.500 / 500 =9

2. Rs.1000/ 1000 =72
3. Rs.1500 / 1500 &9
4. Rs.2000 / 2000 &9

Correct Answer :-

+ Rs.1000/ 1000 =7

24) CANCELLED

According to the National Food Security Act, 2013, which of the following
options are not true? / TE GTer YREAT ATATIH, 2013 gra=efi A fFwedt # & Fi4r a5t

Tal 87
1. It extends to whole of India / 78 W T H @ &
2. There are 7 members in the State Food Commission / T5% @Ter Af0fd § 5 9a&T gra ¢

3. Both of the above / 392k =1
4. None of these / =7H & FIs Tal

Correct Answer :-

« None of these / zA% & #IE 7l

25) The speeds of bus, bike and train are in the ratio of 1: 3: 5 respectively.
If all of them covers equal distance then the ratio of time taken by bus, bike
and train are respectively:/ S, 9T3® 3R ¢ 31 Tfd BT JUTd HHARE: 1: 3: 531 TG
It TaT gt 99 FRd &, 99, 93P 3R S gIRT AT T 6T BT SuTd HHI: B:

1.6:7:8
2.15:5:3
3.12: 7:9
4.1:3:5
Correct Answer :-
« 15:5:3

26) Which of the following is the example of B2C e-commerce? /A% # & &I &1 ot 2 W $-wrasf
BT IEETT 82

1. Amazon.com and Lastminute.com / SO, PTH 3R AR, H1H

2. E-bay.com and Flipkart.com/s -9.®1H 3R fGqusTe Sic Hid
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3. Lastminute.com and E-bay.com/ AR, B 3R 'sc d.HH
4. All of the above / 3udad it

Correct Answer :-

« Amazon.com and Lastminute.com / 3AS.B1H 3R ARAC. B1H

27) The cell reference for a range of cells that starts in cell C1 and goes over
to column H and down to row 10 is-/9d C1 q HIad H 91 3R 1 oI ufekT 10 a9
Ja Joft F e = Ja ey fean wmar 82

1.C1:10H
2.C1:H10
3.C1:H-10

4, C1:H:10

Correct Answer :-
« C1:H10

28) Poliomyelitis known as Polio is caused by an enterovirus which causes paralysis of muscles.

This virus has a particular affinity to ? /ifera & U A ST viferenAgasfey e wifavy
S HIURRIAY & YT BT HRUT Id1 € & PRI gidl 81 g I P fore uep faxiy day 82

1. Muscle Cells/ATHORR™Y &1 ﬁﬁw
2. Nerve Cells of Spinal CordR1g B1 E@ CaRIEEACAIRICAE]
3. Nerve Cells of Brain/ARKIS® B dAbT DHIRH137

4. None of the above E:I'e[ | Eﬁg:lébf

Correct Answer :-

» Nerve Cells of Spinal Cord/'\ﬁ?;?ﬁ 6@ P! w1 HIRBTSI

29) The Pradhan Mantri Adarsh Gram Yojana comes under the - / &= &3 smast
T AT e # & e siaeta smar 87

1. Ministry of Panchayati Raj / 9=Tadt TI15 §3T™
2. Ministry of Rural Development / IHtor faeme w=merT
3. Ministry of Social Justice and Empowerment / HTHTISTS =73 i< SATERTIAT AT

4. Ministry of Finance / fa=t w=merr

Correct Answer :-

« Ministry of Social Justice and Empowerment / STATISI® =TT 3fi¥ ATSaRTiar #smas


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

30) Which of the following option is best represented by the following

diagram?/ fFafafaa & @ &9 a1 fawen A snepfa gRT exifar s gwar g 2

1. Chair, Table, Furniture/ﬁ, ﬁGL R

2. Doctor, Social person, honest person/sTdCQ, A

ki, SHTER STk
3. Family, Parents, Children/ GRAR, $fNYTdH, d<d

4. Gold, Silver, Ornaments/ ?ﬁ:ﬂ, Eﬁ?ﬂ, STHYT

Correct Answer :-

« Doctor, Social person, honest person/Sidex, TTATNIG dfad, SHMER adfad

31) If ‘hand’ is called ‘eye’, ‘eye’ is called ‘ear’, ‘ear’ is called ‘nose’, ‘nose’ is
called ‘mouth’, and ’mquth’ is called ‘hair’, then through which we can
breathe?/3f¢ ‘g1Y’ B 3T@’ HET AT 8, *3H1G’ Bl *B’ BT VI §, ‘BT’ Bl HIH’ el
STl B, "AT%" & ‘U’ el ATl 8, 3R ‘Y&’ B ‘qra’ gl o1l 8, 91 g9 9y frad ad 32
1. Mouth/Hg

2. Eye/3ﬁtq’

3. Ear/®TH

4. Nose/ATh

Correct Answer :-

. Mouth/Hg

32) In which year did the Dowry Prohibition (Maintenance of Lists of
Presents to the Bride and Bridegroom) Act come into force? / ggwl Y (geg
3R gRT B Rl BT Ugd A it v@v@ra) sfufran few af ¥ any fosan war?

1. 1984
2. 1985
3. 1986
4, 1987

Correct Answer :-

« 1985
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33) DIRECTIONS: Find the Mirror image of the given image./ a1 <t it
e &1 gor ufafaw sra #¥1

Question Figure: /g9al JRpfA:
Answer Figures: | 3¢e12 H’!ﬂ_‘?ﬁfﬂT

[TIL[F]

|
M @ 6@ @

1.1
2.2
3.3

4.4

Correct Answer :-

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fAq=r: fFafafEd uy & usars e () & ®==
TR ST BT T AT ST ?

(340 x 9.98) + 6.4001+1245.15 =?
1. 1896
2.1776
3.1676

4. 2076

Correct Answer :-

« 1776

35) Which of the following days was announced as the Deen Dayal
Upadhyaya Grameen Kaushalya Yojana Antyodaya Diwas by the Ministry of
Rural Development? / It e #mea & B & @ S99 R\ 1 a9 <37 Surear T
TTor AT AT s ied faw & w9 ® =i w2 fem = o

1. 20" September 2013 / 20-aT fraw< 2013
2. 20t September 2014 / 20-aT v 2014

3. 25t September 2013 / 25-aT fawa< 2013
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4. 25t September 2014 / 25-aT fFrawaT 2014
Correct Answer :-

. 25t September 2014 / 25-a1 fraw< 2014

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

fordr: fau e fawedl 4 & qu vl ot 91d o7 |
m__ommn__m__nommn_m.

1. onmo

2. nomo

3. monm

4. momn

Correct Answer :-

37) DIRECTIONS: In question below are given two statements followed by
two conclusion numbered I and II. You have to take the two given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts./fId9: 2 feu 0 U= & &1 FY= 3R ITP a1 &t frepd 1 3R 11 feg e &1
3! fU T ST SUFT B I AT © Hd g1 9 Jagnd aat I fy—= uydia ga gf 1 3aft
foremut @Y ufew fpe T Fifere f feu e feeyt # ¥ 19 -a1 e fou e sy &1
THITA U H STHVI FT &, dTe HagTd ad $o W F |

Statements: /HYA:

No tables are watches/@Is Adl, Ul T8 &

Some watches are lamps /%9 U3l §u® &

Conclusions:/ﬁﬂ%‘ﬁf:

I. Some lamps are not tables/WEﬂW,ﬁTrHﬁ?

II. Some lamps are tables/$S §u®, AW §

1. If only conclusion I follows /3f¢ &ad FshY I WW%

2. If only conclusion II foIIows/qﬁWﬁEb'ﬁf II &WW%

3. If neither conclusion I nor II follows /afG = o fsHY 1 9 &1 11 SI¥R0T &l §
4. If both conclusion I and II follow /U%ﬁﬁb_ﬁh 3R 11 A G{WW%

Correct Answer :-
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. If only conclusion I follows /3f¢ Had fAsHY 1 3IIR0 Hl §

38) When was the Pradhan Mantri Swasthya Surakshya Yojana first
launched? / Yo H3T TATEST AT ST TATAT Fd LA AT TAT?

1. 2005
2. 2006
3. 2007
4, 2008

Correct Answer :-

« 2006

39) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry? / g% Aoy st aw, 1961 F Jqa 9 & § &iaar fawew

TEH HT AT H rTIT?
1. Presents and gifts / 3@
2. Affectionate and voluntary dowry / SHqUl UF ¥fg#® a8

3. Food and arrangements / @THT U4 SHa€T

4. None of these / =%  FE 7l
Correct Answer :-

« None of these / g% & #I$ &

40) How many tribal groups have been identified and categorized as
Primitive Tribal Groups? / fa« sfearet aygi &1 Riafea snfeart 998 F 9 & 9R=7 ta
ot FoRaT T 82

1. 70
2.72
3.75

4.77

Correct Answer :-

« 75

41) Shantam walked 6 m towards East, then took a right turn and walked a
distance of 9 m. He then took a right turn and walked a distance of 6 m. How

far is he from the starting point?/ id# 6 Hiex qd &1 3R Iar fib il ok & 9
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ez ot gt au oY | fpR 9 erfY ik gaT 8RR 6 tiex o1 g&t au F11 319 78 3 R fag
¥ fpait gx 82

1.9 meters/ 9 Hiex
2. 24 meters/24 Hex

3. 18 meters/18 Hiex
4. None of these/gﬂﬁﬁaﬂgﬁ

Correct Answer :-

« 9 meters/ 9 Hex

42) A, B and C contracted to do a work for Rs. 4200. A can do the work in 6
days; B cando it in 10 days and C can do it in 12 days. If they work together
to complete the work, then what will be the share of C (in Rs.)?/ A, B 3R C
T fHdl BTH B RT B & FU 3. 4200 § SH71 o1 11 A srpaT T FHA Bl 6 AT H, B
Jparsy wfeRidaurc sparsA pfei A Iepar g1 g s Iy sRd &, @i C
31 fear (5. ®) & grm?

1. 2000
2.1200
3.1000
4. 1500

Correct Answer :-

- 1000

43) Which of the following requires internet connectivity for access? /

frafafad A 9 fead fiu gevae FAfaefad) Ft smazasdar 82

1. Facebook/ W
2. Twitter / EET
3. Watsapp / dT¢quU

4. All of the above / Iudad It

Correct Answer :-

« All of the above / B'q?jﬁﬁﬂ‘l-ﬂ

44) In a class of 60 students, 40% can speak only Hindi, 25% can speak only
English and rest of the students can speak both the languages. How many

students can speak English?/ 60 Bl B T DT ff, 40% Had &¢I I gPhd %, 25%
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1. 32
2. 28
3.36

4. 15

Correct Answer :-

45) The digestion of protein takes place in-/ | &7 U= gidl %—
1. Tleum/ASTd
2. Rectum/HdIRIY

3. DuodenumﬂEUﬁ

4. Stomach/3THIRIT

Correct Answer :-

¢ Stomach/3HTHIRIY

46) Amniocentesis is legally banned because:/TH TG eIy ufver & fafy & ufadfia forar
T § P2

1. It affects the health of the mother/dg HIdI & WY & ol 6||3|$|€$ %
2. It harms the foetus/dg YUI ¥ BINHRS &

3. It causes the spread of AIDS/Jg UsH ® a’)ﬂ:l D PRI %

4. It is used for the purpose of selection of the sex of the foetus/dg STH | @ Hul o fofvT =91 & W
AT

Correct Answer :-

« Itis used for the purpose of selection of the sex of the foetus/dg T H E[Ef Hul o foivT =91 & W
B §

47) A primary key in any table has the properties:/w Wt ¢aa o IIT?IﬁIT:FQ')_vﬁ
ot faiwar 2:

1. No Duplicates/®'s g@idbe Tal

2. Not Null/Null =g}
3. Both of the above/3Judad aH!
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4. None of the above/s_rl'ﬁ I Elﬂ'sc =|Ts°f

Correct Answer :-

« Both of the above/B’q?j'cH Al

48) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /eI fAufefad urd ard &1 o= T rmua R AR feu e Uy &

IR S|

Distribution of students studying in a University /T& fayfaemeay o sreaaa #= 3@
BTl &7 fauTe

Arts/HHT, 10%

Medicine, Tafesm, 8%
commerce/aToTFT,

33%

science/Trm=, 18%

16%

Total number of students /%d BTl &I BT = 8000

What is the total number of students studying in Engineering and Medicine

together?/ I 3R fafrsr faurT & et ard Fa faenfiay &t Twerm frai 82
1. 1280

2. 5000

3.1840

4. 480

Correct Answer :-
« 1840

49) If the average of a, b, ¢, d, e and f is 18, then what will be the average of
a/5,b/5,c/5,d/5, e/5 and f/5?/f¢a, b, ¢, d, e 3 f BT AT 18T, A a/5, b/5,
c/5,d/5, e/5 3R /5 BT NTd T gR?

1.3
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2.4
3.5

4. None of these/3T8 d ®Is gl
Correct Answer :-

« None of these/37H T BIs 8!

50) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fiq=r: fFafafad vy & uyars e (2) & ®=H
TR T B AT A ST 2

+/1000000.000001 _ ?

1. 1000
2.100
3.10000

4. 909

Correct Answer :-

- 1000

51) Which of the following is included in the term ‘workplace’ under the
Sexual Harassment of Women at Workplace (Prevention, Prohibition and

Redressal) Act, 2013?/ H{ZaTsii &1 Frdedar ¥ S« Scdted (R, siate siz gfaa)
srferaw, 2013 ¥ siaviq g ‘FEEA | 99 § § 747 i g2

1. Dwelling-house/ 9™ -Tg

2. Sports-complex / @@ 5

3. Both of these / 39w AT

4. None of these / 3Ta & & #IE 7t

Correct Answer :-

« Both of these / S9ZI=F =T

52) First synthetically prepared organic compound was / Tduyw Aeadd Srdfae 39 §:

1. Glucose/ W

2. Methane/ fﬁ‘a:f
3. Benzene/ éﬁﬂ?

4. Urea/ XA
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Correct Answer :-

« Urea/ AT

53) Pranay sells an article to Rohan at a profit of 10% and Rohan sells it to
Utkarsh at a profit of 20%. If Utkarsh pays Rs.2376 for it, what was the cost
price (in Rs.) for Pranay?/ WWW@W@ 10% HT-ITCFIWQ?I%?IT %Rﬁ:l,
I@Y A 20% FATHT AHR 98 Ied 99 <dT 2| afe b Y P $.2376 YITATH HIAT U, <f YT
o1 9d T (3. H) T 41?2

1. 1980
2.1250
3. 1800

4.1750

Correct Answer :-

- 1800

54) Data link layer is responsible for / STcl o AR SRerd &
1. Error and flow control/ Ffe 3R arg gz
2. Frame synchronisation / WW@W

3. Both of the above/ TR gl
4. To convert into bits/ fded & &=a¢ & & forw

Correct Answer :-

« Both of the above/ SWRId Gl

55) In which of the following areas does the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan seek to develop the Panchayati structure? / Tfia wieft
YT GRS SATHATH 8 § & e & § G GCAAT T (AR FLA T AT @I 87

1. Tribal areas / sfearst &=t
2. Northeast / STXTET &=
3. Scheduled Areas / ST &=

4. The whole country / T¥ 39T A7 &

Correct Answer :-

« The whole country / Q¥ 3T 9T &
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Topic:- Grad_Managerial Skill

1) Sociology is:/ JHTS-TA 8:

1. Arts of society/ JHIS Pl Bl

2. Science of society/ JHIS &1 fagmH

3. Commerce of society/ JHIS &1 qrforsy
4. None of the above/G'CIﬁTﬁ 7Y Elﬁ'sf T8l

Correct Answer :-

« Science of society/ JHIS &I fagm

2) Community development is possible when the approach is:/ 9Hqad ICCR]

a9 Y9 ¢ &9 Ugfa B
1. Participatory/ SgHTRIdTgul
2. Top-down/ UG (€T4-813H)

3. Autocratic/ RS
4. Bureaucratic/ 3@ RIdag

Correct Answer :-

« Participatory/ Fl_s’ﬂ-ITﬁ?lTlIUf

3) Other name of Community involvement is: /JYgra HaydT $I FUNESIE e
1. Community Participation/ 9THaIRI® HRIGRT

2. Community development/ ¥Hcl famrg

3. Community action/ 9Hald Cap

4. None of the above/IWRiad & ¥ I3 g

Correct Answer :-

« Community Participation/ GTH&I% HFGRI

4) Leaders work for the needs and interest of :/ ﬁ?n/ﬁaawrf 4|
raadarsi R TRl & foe o1 s §1

1. Other leaders/ &Fqﬁmeﬁ/ﬁaaamfeﬁ
2. Group/ 9Hg
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3. Government/ 9XhR
4. Extension workers/ﬁw?ﬁﬁfiff

Correct Answer :-

« Group/ 9%9g

5) Traits of local leaders are:/ TTHg ﬁm&ﬁ/ﬁﬂﬁ?ﬁl‘f&ﬁ 3| ﬁﬁm%
1. Physical fitness/ IRING ey

2. Mental ability/ AMRIS Iyl

3. Social attitude/ TS AT

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt

6) Which Five Year Plan is also known as “Gadgil Yojna"/ g vaadfy gie T &t
“rsiira g ff FEd 82

1. First Five Year Plan/ Ugcll Ugquid i1

2. Third Five Year Plan/ dIeRt Uradig gromT

3. Fifth Five Year Plan/ Uiad! Yaayfa gier

4. Seventh Five Year Plan/Iidd! Ugasfg aiemT

Correct Answer :-

« Third Five Year Plan/ dRRI U9quiid i

7) Pictorial is a form of:/ 9t (RAiftae) _____ #1¥us:
1. Interview/ JT&Tch R

2. Questionnaire/ PEIGK]

3. Schedule/ gdl/THT-YRU

4. Observation/ 3fddie

Correct Answer :-

« Questionnaire/ UHTaal!

8) First step of programme planning is:/ PdHH FRISH BT Ugdr IR &
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1. Evaluation/ i+
2. Report writing/l?d ¢ A

3. Identifying problems/WGﬁ CAR RIS

4. Preparing plan of work/®T TIoHT dUR =T

Correct Answer :-

« Identifying problems/ﬂﬂwaﬁ CAR RIS

9) Types of leadership training are:/ Aqd UEUT & UHR &:
1. In-service training/ Har-# (sﬁ—ﬂ'ﬁ) IR

2. Pre-service training/ @ET—U@C (Eﬂ—ﬂm) gfRreror

3. Both of the above/ IWRIad G

4. None of these/ 370 ¥ &5 g

Correct Answer :-

e Both of the above/ IWIFd gl

10) A group working especially for the welfare and development of women is
called:/ faRIv ¥u & ufgensi & s vd faem & o ordva ayg & C |
SIGLH %:

1. Balak mandal/ STele HSd

2. Gram mandal/ U Hsd

3. Mahila mandal/ Afgdl Hsd

4. None of the above/IWIad H ¥ &5 g1

Correct Answer :-
« Mahila mandal/ Afgd #sd

11) Other word for welfare and development is:/ &I T4 faHT1T H1 LSRN g
1. Energizing /SN DHRU
2. Empowerment/ IRl

3. Enriching/Tqfa®Ror
4. None of the above/m?ﬁ el ?ﬁé T8l

Correct Answer :-
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« Empowerment/I=Iadd R0l

12) Barrier of communication is:/ TR &I 91T &
1. Audience/ TPH

2. Communicator/ 49aR®

3. Noise/ QIR

4. All of the above/B'q?jEH gt

Correct Answer :-

« All of the above/3udad I+

13) Fourth Five Year plan was the first plan launched by:/ @4t t=adfa aeEr
ERT ARTY ot TR gent grer At

1. Mahatma Gandhi/ HgTET T

2. Jawaharlal Nehru/ STdT83dTd Ag&
3. Indira Gandhi/ 3fexT Tieh
4. Sonia Gandhi/Ifar e

Correct Answer :-

. Indira Gandhi/ gfexT TiTedt

14) Main focus of Second Five Year Plan was:/ a3l Gaqulg Tie1 &1 T&T BIvd
Yr:

1. Self reliance/ AR

2. Technology development/ WeNfTe! faera

3. Industrial development/ 3N fasry

4. Administrative development/ RIS faeg

Correct Answer :-

« Industrial development/ 3fenfie oy

15) What are Leaders?/ SdT/Aqaddl 1 gid 82
1. Head of the group/ ¥Hg &I R

2. Tail of the group/ 948 &1 U8
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3. Body of the group/ dHg &I IRR
4. None of the group/ 9Hg 1 8 o} et

Correct Answer :-

. Head of the group/ IHg &1 RR

16) Radio is:/ ¥f&aY giar 2l
1. Folk media/ @id HTe0H

2. Print media/ fiic areom

3. Electronic media/ aadgTﬁdv HIEH

4. All of the above/ Iudad i

Correct Answer :-

« Electronic media/ Sadci-e H1eqd

17) What figure best describe the communication process?/ -3 3"?&[
AR ufthar &1 Haiwd quie Hedt 82

1. Square/ i

2. Circle/ 9

3. Triangle/ ﬁﬂj\_ﬂ
4. Line/ &1

Correct Answer :-

« Circle/ dd

18) What type of process is communication?/ J9R f&T UpR &I ufhar g2
1. One way/ Udh-RW%I

2. Two way/ -

3. Three way/ diH-dWI
4. None of the above/ IWRiad H I ﬁ's‘ :|6°f

Correct Answer :-

« Two way/ &l-adWl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

Top priority in Eighth Five Year Plan was given to;/ 3radl Yaayfy oy §
P Far wrufirear &f Wt A

1. Employment/ ISR
2. Education/ fRref

3. Public Health/ 9rdwife® @Ry
4. All of the above/B'quaﬁ gt

Correct Answer :-

« All of the above/B'ER}IEH gt

20) Gram sevika is an example of:/ ITH dAfd®T BT I3 2
1. Professional leaders/ URIaR ﬁ?jc_dﬁﬁ

2. Local leaders/ ®IHg dl/Adadmdl

3. Government leaders/ SRR Adl/~g@dbdl

4. None of the above/3IWIad § ¥ &5 5!

Correct Answer :-

« Local leaders/ R a?ﬂ/ﬁ"q’c_dﬁﬁ

21) Reduction of Gender inequality was the main focus of:/ <R RATHEAT @1
e T $T BT By UT:

1. Eighth Five Year Plan/ 3T3d! Gaay{a T

2. Ninth Five Year Plan/ =idf Ugauig areiT

3. Tenth Five Year Plan/ Gqd! Uaaulg Ao

4. Eleventh Five Year Plan/ TTgd! Ugaslg areHT

Correct Answer :-

. Eleventh Five Year Plan/ TTgd! Ugaylg areHT

22) Which is the current Five Year Plan of India?/ HIRd $ 9adT UIaufg qQis-n
P-4 22

1. Ninth Five Year Plan/ FId] UaSg Irei-T
2. Tenth Five Year Plan/ cdd] Ugauig a1
3. Twelfth Five Year Plan/ SRgd! Ugaulg AT
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4. Thirteenth Five Year Plan/ dRgdl Ugdsg T

Correct Answer :-

. Twelfth Five Year Plan/ SRgd! UIasg T

23) Modernization of Industries was a major highlight of which Five Year

Plan?/ ST &1 sMyYf~iaie~ur fora deadfa aie = &1 t& ug fawg ur?
1. Second Five Year Plan/ a3 Uaaula Ao

2. Fourth Five Year Plan/ A4t Gaaufa gierr

3. Sixth Five Year Plan/ 33! Uaqud Ao

4. Eighth Five Year Plan/ 3(T&d! Uaayfa gier

Correct Answer :-

. Eighth Five Year Plan/ 334l Uaas{a a1

24) Duration of Tenth Five Year Plan was:/ 3dl Ugaufg are=T @t 3rafdr -
1. 1992-1997
2.1997-2002
3.2002-2007

4, 2007-2012

Correct Answer :-

« 2002-2007

25) What is the main role of local leaders?/ R AdT3fl/Ageadmarsii & g&I
YfreT R gl 872

1. Influence the group/ T4g &I YHTIAd HAT
2. Train the group/ dHg D1 iR BT

3. Lead the group/ THg &I Aqd BRI
4. All of the above/ Iudad it

Correct Answer :-

« All of the above/ B“q?jﬁlﬂ gt

26) Planning Commission of India was formed in the year:/ HIRd # g1
ST Pt TITGAT a9 H g3
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1. 1950
2. 1960
3.1970
4. 1980

Correct Answer :-

« 1950

27) Professional leaders are selected through:/ URIaR Adr3ii/Aqamdarsii &1 Ta=
& Hregw A forar wirar @

1. Interview/ HI&Th R

2. Votes/ Hdalq

3. Observation/ 3{dalidh

4. None of the above/3WIad & ¥ 15 g!

Correct Answer :-

e Interview/ II&Tch R

28) Formal Institution of society is:/ THTS P NUATRS TR &:
1. Gram panchayat/ 919 U=mdd

2. Rural school/ ITHI0T faemem

3. Primary Health Centre/ UTdfH® @b &g

4. All of the above/(fq?iélﬂ ekt

Correct Answer :-

« All of the above/B'q?j?ﬁ ekt

29) A person who adopts a new idea before everyone is:/ dTa! 9 & uga foredt
T faR & (v arer st Pedrdm g:

1. Innovators/ Taydd®

2. Late majority/ UY SgHAIRI

3. Laggards/ Heue/Hadfg

4. Early majority/3RBe® qgadi

Correct Answer :-
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« Innovators/ ECPCRED

30) One Child policy was launched in which Five Year Plan:/f&q CECLUE R
¥ U dad ifa mey 3 Wt A2

1. Fifth Five Year Plan/ Uiadt t=afa giemn

2. Sixth Five Year Plan/ ©3} Ugaug gror

3. Third Five Year Plan/ TRt dgasfa aieT

4. Seventh Five Year Plan/3idd! U=as{d T

Correct Answer :-

« Sixth Five Year Plan/ ©d! UIdug gieHT

31) Which is the best model of communication?/ 99X &1 Jdi<H Alsd HI--49T

2

1. Leagans modeI/Fﬂ'ﬁTHﬂTEFT

2. Aristotle model/3R¥q ATed

3. Shamon-weaver model/RH-dlaR Hlsd

4. Berlo model/ gat Arsd

Correct Answer :-

« Leagans model/?ﬁﬁTH Hisd

32) Example of Non-verbal communication is:/ 3o FAR BT IGTEIUT %:
1. Signs/ T

2. Gestures/ gI1d-HId

3. Actions/ fohamq

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

33) Primary data are:/ WIYfi® 31 §:
1. Second hand data/ ¥&%s g8 IeT

2. Tertiary data/ Jdiad Sel
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3. Original data/ IET@ET
4. Organized data/aiR¥d Sel

Correct Answer :-

« Original data/ 9d ScT

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 9@ AR 3 M sgfaw«dt vzl & W&t
faweu o1 999 S

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3T Weg FRIHIF B dfe Weg g’ A foran man 8 ot ord 8 emm
1 gqren’ | gg o=y, gy, wdY, HraArsi a1 I9aY BT GHIUT T I =dfshar g1 HER,
Wadhdl & qdgR # geard @ | Tgayul Yf¥rer fFurar 3198 vsgl, wdiel, ddal, Siart
T Al & U H g HdT g1 T8 AN & qTeaH A 1 Harq & Yo+ gd g Yad: TR
Fd U UHl, ", "ahdl, AN (I3T9), fawpred (SwfEm), wrasal, w1t wd ufaygf® @
SATARIHAT gl 31 Tg e TF ufagfd W &t U Fad ufehar a1 9 3159 UhR "aR
STFPRY, faar, 333, HraAme 3R T<-AT9=< &1 ATH-UTY & 37 dRN A "I B BT
TP SN]d 94T 8| TaR a9 YUTA! BiaT § I ISR Th-gax & gRT T3 R foram oe 8fik
e forar e ofe uraeal Se & Sie It o # S gwerar @ o siftuma #
TaRedt 3 ¥ VST AT 91 98 AR 81 81 YT Y9 & fore gg smawae &) f& urasat
SR ¥ HgHd 8 g a1 3Q R &Y 8| gfe ddxr gwer forar war 8 @) g9+ vt 21
g AHUT Y B Twar 31 3H UPR, D TaR # W B S} JHg 991 Wi 81

Communication is a tool of:/ HdR CARGIEE R ES)) %:
1. Resource/ 99199

2. Channel/ HI&gH


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Action/ Eb‘rﬁil'lﬁ

4. Management/UdY

Correct Answer :-

« Management/Ude

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd e & aFyd® yeH: 39 4 83 T sgfawed! u=ai & 98t
fawe &1 79 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

HOR & 3 Mg FRIAGIA $1 dfes weg “wrgRr A forar wan 8 Rraer ok @ emm
T gqren’ | gg o=y, 9y, A, HTaArsi a1 9T} T WU T IS =dfhar g1 "R,
W dhdi & geR A dgard a1 d Hgayul YfAreT fAurar 8198 i, udiel, ddl, erl
T ST & Y A g JHdT g1 T8 aN & JATeaH A 1 HIar &7 Ya- ¢d 8| Yad: R
P g U}, "W, Tdhat, A (W), s (SafEm), wrawal, w1t wd ufagfy #
STIRYHAT gl 81 T§ WS Ta ufayf® Yo &t ue Jad ufshar a1 o 3159 IR 9aR
TP, faarR, 338, HraAne 3R T<-AT9= &1 ATH-UTH & 37 dRN A "I B Bl
TS SN[ WO 81 S9R a9 YHTA BT § ofd HexT UPh-gax & gIRT 913 & foram 9 iR
e forar e ofe uraeal Se & Sie It o # S gwerar @ o srftruma #
TaRedt 3 3¥ VST AT 91 98 AR 81 81 YT Y9 & fore ug smawae &) fP urasal
SR ¥ HgHd 8 g a1 38 R &Y 81 gfe "dxr gwer forar war 8§ @) g9 vuiw 21
g AT ot B Twar 21 3H UPR, D YaR # W B =S} U 991 Wi 21

Communication can be in the form of: 4R > Y H g Jgodl ¢
1. Idea/ JaR
2. Facts/ ddyg

3. Opinions/ Hd
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4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR 3 T sgfawadt uzei o w8t
fawey &1 79q B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3T Weg FRIIHIF B Afe Weg "o’ A foran man 8 foraer ord 8 vemm
T gren’ | gg o=y, 9wy, waY, HraArsi a1 I3uY BT FWINUT Ud IS =ifshar 1 HER,
Uddl & sadeR H dearg a & Hgayul YRreT fHuTdr 8148 2rsal, wediel, Tdbal, &Rl
T Al & U H g HdTl g1 T8 AN & ATeaH A i Har & g+ ¢d 8| Jad: JaR
FYd U UHl, ", "obdl, AN (I399), fawprea (SafEm), wrasal, w1d wd ufayf® @
SATIRGHT gid! 1 TE SR T4 ufagfd e o1 U Jad ufshar a1 9 3139 TR JaR
TSR, faErR, T3, YT 3R THe-ATug< &I RI-Ur & 30 AN | T3 B BT
TP SI1Td YA g1 YR a9 THTE T @ STq TS Th-gaY & gRT TS $ T oY 3R
Tug foram s afe yraeat Ser @ St It ord A w8 usrar @ o e #
TaRedt 3 ¥ WS AT 91 98 AR 81 81 YT Y9 & e gg simawas =8} f¥ ureasat
STFPR! ¥ JgAd 8 8 a1 3§ TR Y 81 afe Tz gus foram mar g Y a1 yaie 81
g AT Y B Twar 21 3H UPR, 3 TaR # W Y S} JHH 991 Wi 21

What is good communication?/ 33T HdR & 8?
1. Good Message/ 33T Tl

2. Creating understanding/ JH &1

3. Providing treatement/ IdgR/3UdR Ul hI

4. None of the above/IWRIad & ¥ BIs Tal
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Correct Answer :-

» Creating understanding/ JHd dATHI

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz & wFyde ygs 9@ - @4 T sgfawed u=-i & w&t
fawey &1 999 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST URT B Fo TAHST S TATHT 98% P HaX Bl 81 TTP 204 WA ¢ ford |
150%%@%%@?54%%%%%%@@ 100% HMNfas
Ugd a1, SIF YOR $T UH depTd ATHH 8, W URd # IS 3 GUER, $5udd qU=R
gafed ik fratt fial & Hia & srarar sro=r 1 g urw T forar g1 9t vy
YR yTaTait iR Siferal & 77 auf @ WIRUI & 9Ta9[g, 98 3t 9@ WA, i, samurR
a1 fe-ufafem 3t wve ar=aarsit 1 R U § RIS 99mER Hid aafae df §
8t 991 I®T g1 Xf&a TP 9ga a7 AT | g AP g, AU § 3R J9iwd o g1
gTaife 39 favga 399 37 & fore w18t o 9dd €1 39 Sodl /qursh, yeRl ¥ Jefta
ayons, IRl & Iudasar, Sl T fe & I # e a1 Sraeal, id @
Hefta daraf=di, I & gD, FHTERT, feaH o Jafta gurer atens, aereeri,
wyrafal, dféra araten, Arest, veae, Wit otk g el & e wah foran < g 81
IS F Y 3T UPR & - 98 TR & 37 fHet ot Jrem $t g § ol @ 9 aei
¥ UET IHdT §; TP SATFDIRA]l B T A FHATINT B THdT § 3R UeTHd Iar
21 Tg FPReRY 9% uga Iovar 3 3R I™re fAftfa o 9ear @ wd w1 s91e @ 9 g1
A F T B $o ™R Ut 39 THR §: TR giaurt Faa Hia i @ Suas
g, R &1 feon man Reids wwa Hifta grar 8, s & a1y ufagyf & ura: R sran
2, TRUImHY W TR @A 3134 8, AR deiie 3t srazaddr @it ®, urfior sare) d
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mgwﬁﬁfﬂﬁ%,ahmmmwmwm%wﬁwaﬂﬁm
q&d gl

Total radio stations in India are:/ HIRd i Wiﬁ:‘q’f @'QF-T%
1. 150
2.402
3.204

4. 540

Correct Answer :-

« 204

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wryde yeos 3u@ R fad T agfawadt uzei o w8t
fawe &1 799 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST URT Bt Fo FTAHET F TATHT 98% P HaX Bl 81 TTP 204 WA ¢ ford |
150%%@%%&54%%%%lmwmuﬂ 100% s
Ugd a1dl, SIF YOR $T TS dopTd ATHH 8, W URd § S 3 GUER, $5ued q9=rR
gafed ik fratt el & Hia & srarar sro=m 1 G urw T forar g1 9t v
YR yTaTait iR Siferal & 77 auf @ WIRUI & 9Ta9[g, 98 3t a& @A, $i¥, samurR
a1 fe-ufafem 3t wve argarsit 1 R U S IRife 99 Hid aafae df o
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T8l 991 91 81 ST TP 9gd o A1 3| I ABd 8, AUTaH ¢ MR g oft 3
gTaifer 39 fawga 391 37 & frw v =8t #- g &1 39 oHi /T, el & wdfta
Tyunse, AR @ IuARET, SHHdal ! e & I8 | AT a1 JAreTeal, 79d 9
Hefera darafral, I & yHiy, JHrERT, feaml @ Jdafta gumar aienst, Jarerd,
wyafal, dféra araten, Arest, vgae, wied ik gu el & fg wai fosan < g 81
IS F TH 3 PR § - 98 TR & 37 fHalt ot Jrem 5t gaan # ot @ a9 ash
Y Ugd 9P §; AATaAD JAFSIRA] Bt THT A TATRG B TPl @ 3R SrUemdd Jwn
21 Ug FPReRY 9% uga I@ar 3 8k S~re fAfta o 9oar 8 wd i a9 @ 9o g1
A F T B o ™R T 39 TeR §: R gRAurt daa S R | Suas
3, fowa @1 oo man Rreics way Wifta ghar 3, wAReH & w1y ufawayf & ura: s smar
2, URUTHT R eR @1 B ¢, ARy do-ie & snazaddr gdl €, arior sare &
mgﬁwﬁﬁfﬂﬁﬁ,eﬁ?m%ﬁammﬁlﬁwvﬁﬁaﬁﬁﬁméﬂﬁﬁﬂ
qad

Which type of media is radio?/ 3f&4 fFd UsR &1 7109 82
1. Individual medium/ dafads ATEH

2. Mass medium/ S HIZIH

3. Group medium/ JHg HIIH

4. Single medium/Udhd HIH

Correct Answer :-

e Mass medium/ S HI¥IH

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafefEd e & eaFyd® TeH: 39 4 &3 T sglawed! u==i & 98t
fawey &1 799 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
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are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST URT Bt Fo TRET F TATUT 98% P HaX Bl 81 TTP 204 WA ¢ for i |
150%%@%%@54%%%%%%@% 100% e
Ugd AT, 9 WAR BT TP debTd AIEH g, W IR § IS A TR, $5aepd GqaR
gﬁﬁ?eﬁ?ﬁmﬁwﬁﬁ%@a%mmwmdmﬂﬁm%mmﬁm
YR yTaT3ii iR diferal & 77 auf @ WIRUI & 9Ta9[g, 98 3t a& @A, $i¥, R
a1 fea-ufafeq &t g ar=aarsi o1 WY 9 d TRiRe 99ER did aafas sl &
T8l 991 91 81 ST TP 95 o A1 3| U ABA 8, AUTIH ¢ MR i oft
gTaifer 39 favga 399 37 & forw v =8 #- g 81 39 doHi/quTeH, el & Tdfta
Tyunse, ARl @ IuaSET, SHHdal R e & I8 | FEAre a1 SreTal, id 9
Hefta daraf-ai, I & e, gHER), fear O Jeafta gurar awfitene, anareri,
wyrafal, dféra araten, Arest, vgae, Wit ok gu el & g wat foran < g 81
IS F TH 3 PR ¢ - 98 TR & 37 fHalt oft Jreq 5t ga=n A o @ a9 aeh
Y UST 9Pl §; SATaAD JAFSIRA] B THT A TATRG B TPhdl @ 3R SrUeTdd Jwn
21 T8 fFReRY a% ugda Ioar © 3R I™re fAftfa &= Ioar @ ud 3 991 g g 3
A & T B $o ™R FHTE 59 R 7 vHR iAure daa it i § Suesy
8, fawr &t fean mar fraiss awg Hifta giar 8, wARkes & a1y ufagef & urg: g o
2, TRUImHY W TR 7@ 33 8, ARy deiie Pt srazaddr gidt ®, arfior sare) o
mé\ﬁwﬁﬁfﬂﬁ%aﬁvmaﬁammwvﬁﬁa%ﬁww%ﬁ
q&ad g

Radio is:/ ¥f&at BT 3

1. Fast/ a9l

2. Popular pleasing/ MBI 3R ATHTIA
3. Exciting/ JHE®

4. All of the above/B’q?EIEH ekt

Correct Answer :-

« All of the above/3udad I+

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wryde yeo: 3u@ R fad T agfawadt uxei o W&t
faweu 1999 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
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trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

A URT B F TAGBIT & TTUT 98% I HaR HIdT 81 HP 204 RIH ¢ oy I
150%&3@&?%&54%%%%%%@% 100% e
Ugd 91dl, 919 JUR $T TH dopTd ATHH 8, W URd § Af$q 7 GUERl, $5aed q9=ER
gﬁﬁﬁaﬁ?ﬁp—@ﬁﬁﬁ%@a%mmwmﬁmﬂﬁﬁm%mmm
YR YTaT3ii iR diferal & 77 auf @ WIRUI & 9Ta9[g, 98 3l 9% @A, $i¥, AR
a1 fea-ufafeq &t g ar=aarsi &1 R © 9 A TRiRe 99ER did aafas sl &
T8 991 91 81 ST TP 9gd oW A1 3| I B §, AU ¢ MR s oft 3
BT 34 fasga 7 3 & fE W 781 ¢ 9od &1 39 5! /aurell, yegi=l @ wefia
Tyune, ArERAT @ IuARET, HHHdal R 31 & I8 | AT a1 SAreTedl, e 9
Hefta daraf-ai, I & ey, guErRt, fear 9 Jeafta gurar aftene, aarer,
s, dfdra arataf, Ares!, yea=l, Bie™ R gu el & fore wakT forar < gwar 81
SN F TH 3 PR § - 98 TR & 37 fHalt oft Jreq Ft gaan # o @ a9 ash
¥ UgT JHdT 8; TP STHHIRA! B THT A YA H JHdT 8 3R rUeTHd IaT
21 T8 fFReRY a% ugd Il § 3R S~re fAftfa &= 9oar @ v 3y 991 9 g 3|
A F T Bt o ™R U 39 TeR §: R giaurt daa S i | Suas
3, fowa 31 foar mar Rrevics way Wit ghar 8, 99w & w1y ufawayf & ura: g smar
2, TRUmH W AR 7@ 134 2, ARy aeiie Pt srawadar gidt 2, urdior garet §
%fmgﬁwﬁﬂzﬂﬁ%}eﬁvmmmw%ﬁwvﬂﬁaéwﬁww%ﬁﬂ
|

Radio is used for announcement about:/ IS4 &1 ITART J Tefia
myomsif & fore forar wirar @:

1. Meetings/ W/H‘J-ﬂ&ﬁ

2. Demonstrations/ T&=HT

3. Outbreak of diseases/ IM & UHIY
4. All of the above/3udad I+

Correct Answer :-

« All of the above/3udad I+
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8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiz &1 wFyde g 9@ - @4 T sgfawed u=-i & wdt
fawey &1 999 |

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo TAHET F ATHT 98% P HaX Bl 81 TTP 204 WA ¢ ford |
150:&%@%@%%@?54%%%%lmwmuﬂ 100% HMNfas
Ugd a1, SIF YOR P TS dopTd ATHIH 8, W URd # e 3 U, $-5udd qU=R
gafed iR firaht il & wa & sramar srom gRT wrA ura =8t far 81 Tt v
YR yTaTait iR diferal & 77 auf @ IRV & 9Ta9(g, 98 il a& WA, i, samurR
a1 fe-ufafem 3t wve araarsit 1 R ¥u d IRife 99mER |@id aafae odf §
T8 a1 TT 1 IS TP 9gd AW HIAH 21 U8 APd 8, HTHTa @ iR THiws ot @1
graife 39 favga 399 37 & fore w18t o 9dd €1 390 Sodl /qursh, yeRl ¥ Jefta
ayons, IRl & Iuasar, Sl T nfe & I | AT a1 Sraeal, fid @
Hafta daraf-di, I & gDy, FHER], feaH O Jafta gurar aitens, aereeri,
wgrafal, Tféra araten, Arest, veae, Wit ik g el & e wah foran < g 81
IS F Y 3T UPR § - 98 WaR & 37 fHet oft Jrem Ft g § o @ 9 aei
¥ UET IHdT §; SIS STFHIRA!l B TIT A FHATINT B THhdT § 3R UeTHd IaT
21 T8 FPReRY 9% uga Iovar 3 3R I~e fAftfa &% 9ear @ wd o s91e @ 9ar g1
A F T B $o ™R Ut 39 THR §: TR giaurt Faa Hiia i @ Suas
g, R &1 feo man Roiss wwa difta grar 8, aaReH & a1y ufagyf & ura: R sran
2, TRUmHY W AR @A 134 §, AR deiie Pt srazaddr @it 2, urfior saret d
ggﬁ%ﬁﬁ,ﬁmmmmwm%ﬁwmﬁw
|

Radio is considered as:/ f&al &I HHET ST &
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1. Relatively cheap/ &rﬁ&rmm?n

2. Very costly/ Sgd Hgm
3. Quite boring/ §gd k¥
4. None of the above/B‘qﬂTﬁ 7Y ?bﬁ'sc el

Correct Answer :-

« Relatively cheap/ &FE{&HWW

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wFyde yee: 39@ AR 3 T sgfawadt uzei o w8t
fapeu &1 9ua HI)

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo TAHET F AU 98% P HaR Bl 81 TP 204 WA ¢ ford |
150%%%%@54%%%%%%@% 100% WM
Ugd aTdl, 51 WOR $T TP debTd AW §, W URa § f$a I IR, $=iaed IaRR
gafed iR firaht Ml & wa & sramar srom g1 JmA ura =8t fear 81 |t v
YRt Hraref ok diferal ¥ 77 auf & R & 91a9[g, I8 W 9% WA, $iY, IR
a1 fe-ufafem 3t g ar=garsi $1 R ¥ 3 RIS 99aR 9 aafae df §
T8 99 91 21 IS TP 98 a WA 21 98 AP €, AU ¢ 3R AT oY B
graife 39 favga 39 37 & fore uah T =8 o Idd €1 3/ Sodl /qursh, yeRl & Jefta
ayons, IRl # Iudasar, Sl T fe & I | JEAre a1 Sraevay, fiad
TR daraf-ral, I & geiu, THERT, el @ Jafta aar aienst, arareeri,
wyrtal, dfére araten, Arest, ygael, wiesd ok gu fEl & g wat fosan o g 81
IS F TH 3T UPR § - 98 TR & 37 fHelt ot Jreq $t g § o @ 9 aei
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Y UST 9P §; SATaRAD JAFSIRA] B THT A THATRG B IHdl @ 3R SrUemdd Jwn
21 T8 fFReRY a% uga I § 3R I™re fAftfa #= Ioar @ ud 3 991 9 g 3
A F T B $o ™R U 39 TeR §: R giaurt daa S R | Suas
3, fowR &Y fear mn Rreiss awa Wifia grar 3, 7-ReA & a1y ufawayf # wra: gR s
2, TRUImHY W TR 7@ $ied g, ARy deiie 3t srazaddr gidt 8, arfior sare) o
myﬁ%ﬁﬁ,ﬁmmmmwm%ﬁww%ﬁ
qad

Limitations of radio are:/ Yf&al &1 JHT¢ €
1. Not enough sets/ TaTed e & Ty gl g
2. Require special techniques/ ORIy d1d 1 aRgHd

3. Difficult to check on results/ giRome} IR AR Waq A obi?b-ﬂa
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/T{q?jEH gt

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd meiw & aFyd® yes: 39 4 3 T sgfawed! u=ai & 98t
fawea &1 a7 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

AR & 3 Weg FRIAGIA 31 Afew g gy F fomar wan @ Rraer ok @ emm
a1 |ren’ | g8 fammry, awt, wal, yrash a1 Taal &1 WY Ue 3Pt Safhar g1 ¥,
W dhdi & geR W dgard @ A Hgayul Yfirer fAurar 8198 s, udiel, dddl, serl
T FTAf $ ©U A 8 Ghdl 81 g AN & WTead | $1d HIaM BT Y=~ g 8| ad: GaR
P g U}, "W, Gdhat, A (W), s (SfEm), urasal, w1t vd ufagfy #
STIRIHAT gl 81 T§ WS Ta ufagfd Yo &t v Jad ufssar a1 ok 3159 IR 9aR
TSR, faER, 333, yransit SR THe-AToRI< & STH-URT & 3= a1 & T HIA BT
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TS SN[ YT 8| TOR a9 JHTA BT @ 919 HexT Udh-gax & gIRT |13 & foram 9 ok
e forar sie| afe urcaedl SFeRt & St I o 7 A8t wweEr @ o erfiurg ®

TaREd! A 3T VST AT Y I8 JIR 81 81 HTH J9R & foe ug smawgs T8} fo urasal
SR ¥ HgHd 8 g a1 38 WeR &Y 811 gfe ddxr gwer forar wan g @) ga-n v 21
g AIHTr ot B THdT 81 T UPNR, 3 AR | W B =S qH I4141 ;A 21

What type of process is Communication?/ §dR g uprR ot ufeean %?
1. Continuous Process/ Tdd Ufehar

2. One-way process/ Uh-aRWI Ufehd

3. Social Process/ HTHIS® Hishdl

4. Psychological process/ﬂ‘ﬁaﬂm gfeear

Correct Answer :-

« Continuous Process/ ddd ufeear

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR 3 T sgfaw«dt uzei & w8t
faweu &1 9 B

The word communication is derived from a Latin word "Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Tl Weg FRIIHIF B Afe Weg "o’ A foran man 8 foraer ord 3 ema
1 gren’ | gg o=y, 9wy, v, HraArsi a1 I3uY BT GHINUT U ITH) =afshar §1 HE,
Wadhdl & qdgR § geard @ | Jgayul Yf¥reT fFurar 3198 xsgl, wdiel, ddal, Siart
T Al & U H g JHdT g1 T8 AN & ATeaH A S Harq & Yo+ gd 8| Jad: TR
FYd U UHl, ", "ohdl, AN (I99), fawprea (SrdifEm), wrasal, w1t wd ufayf® @
ATAIHAT gt 31 Tg R TF Uiy Ao &t U Fad ufehar a1 9 3159 UhR aR
SR, famrR, 383, yras 3R THe-ATIRT & STH-URT & 3= NN & T HIA BT
T SN]d Y41 8| TaR a9 YUTA! iaT § I ISR Th-gax & gRT AT R form 9g 8fik
U o s afe yraeat Ser @ St It ord A 8 usrar @ o e #
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TIRPdl 3 I° VST YT 1 98 IR 31 g1 YHTS IR & oY a8 smaxgs —g) fh urcdedt
PR ¥ 9gHd 8l 8 91 39 WeR &Y g1 gfe dex gae forar wam § o sa+1 wuid g
g JTHIT B AhdT 1 3 UPR, 3 HOR | HeW 1 =St GHeT g941 i g

Communication changes the behavior of: /IddRR P UAER Jead] 8:
1. Extension worker/ﬁﬁl?ib_ﬁf
2. Receiver/ UTiad!

3. Communicator/ IdR®

4. Leaders/~qadmdiafl /i

Correct Answer :-

« Receiver/ T dl

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa Tz &1 wFyde yess 39@ i @4 T sgfawed u=-i & w&t
fawey &1 799 B

The word communication is derived from a Latin word "Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3T g FYABIE P Afe Wsg “wRa | forar mar @ foraer o 3 ema
1 g’ | g foamry, 9w, wa), Hraare a1 vau) 1 GWiveT ug 39@! s=afthar g1 I9R,
Waddl & sadeR § dearg a & gayul YRreT fHuTar 3138 2real, wdiel, Jdbal, srerl
T AT & U A g1 THdTl g1 T8 AN & JATeaH A 1 Har T Yo+ ¢d g1 Jad: JaR
Fd gy Aft, Tz, WHhat, wEit (), fawrea (S, wrawal, st ve ufogfd @
SATIRTHT gid! 1 T§ TSR Td Ufagf® oA &1 U Jad ufshar a1 9% 3139 TR JaR
SR, faER, 338, HTgaTsil i Tg-ATug=< &1 ATH-UTH & 3= AN A TS HI1 B
TS SN[ YT 81 TOR a9 YHTA BT @ 91d HexT Uh-gax & gIRT 913 & foram 9 ok
e forar wimu | ofe uraeal SHeT @ St I 3 A 7S Twerar @ o siftuma #
RGB! A 3T VST AT Y I8 JIR 81 81 HTH T=R & foe ug 3mawgs T8} fo uradal
SR § TgHd 8 & 71 3Q TR # &1 afe Tz guer forar mar g @) g9+ vt 21
g AIHTr ot B THdT B1 T UPIR, 3 AR | W 1 =S qH I4141 ;A 21
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Communication is derived from:/ Asq Wﬁhﬁ, TP ¥ ferar mam 3

1. French word/ T g
2. Greek word/ U Use
3. Latin word/ ®fd-l s
4. German word/SH TMeg

Correct Answer :-

« Latin word/ NIGRIRIEH

Topic:- Grad_Child Care and Education

1) Theories of learning are VARG E K 3 b et o S
1. Theory of trail & Error/awd 3R Yd &1 Rigrd

2. Insight Theory/ﬂﬁTWﬁ@lf_d

3. Imitation Theory/ &R0l &1 Rigr

4. All of the above/IWRIed T+

Correct Answer :-

o All of the above/m?ﬁ Tt

2) Factor affecting process of learning is: /3Ta® & J@ $ ufhar & yuTiad $3
A I 1 81 &

1. Motivation/lﬁUﬂ
2. Reward/QRIHR
3. Praise/UREl

4. All of the above/IWRiad gHt

Correct Answer :-

« All of the above/IWRIad 4

3) Personality is related to:/ dfdia fpad Jafia giar 8:
1. Physical/IRIR®

2. Motor/mm
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3. Persona/ERﬂﬁT
4. Emotion/?iaﬂ

Correct Answer :-

« Persona/URdMT

4) Child welfare schemes are: /WWI‘WH’NF-ITE%:

1. National child board/IT< 1T §Td Sl

2. Integrated child development services/IH<d aTd f[ddH™ HaT Ao
3. National child policy/mw:ﬁﬁ

4. All of the above/IWRIead T+

Correct Answer :-

« All of the above/G'CIﬁTﬁ Tt

5) AIMS of early childhood education is:/qﬁmuﬁlﬁ QI&IT WB%SRT T %:

1. Development of Interest in Iearning/‘%ﬂ"@ﬁ%trﬁr =T SIRId AT
2. Development of Aesthetic sense/dId 1Y &1 fabT

3. Development of Creativity/mﬁﬁﬁﬁ

4. All of the above/IuRId G+

Correct Answer :-

« All of the above/IWRIgd IH

6) Psycho drama used for the treatment of / YA BT ITART
IUER & ford fpaT s 8:

1. Delinquency/dTdl SURTY

2. Abnormal Children/ITHTY dlcidh
3. Problem Children/JHITH® dlcidh

4, Mentally Retarded ChiIdren/ﬂ‘E{@”@W

Correct Answer :-

« Delinquency/dId SURTY
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1. Common child/ITHT dTA® &1
2. Backward child/fUss dTd® &1
3. Retarded Child/55 §fg dTcid &l

4. Gifted Child/WR gfg aTci® BI

Correct Answer :-

« Backward child/fU®< STd® &I

8) Maturation & Growth cycle are determinants of /af¥udadr Td gfs Ok
_ sy aat:

1. Development/ﬁw
2. Growth/q@

3. Heredity/d=IIshH
4. Environment/drdrdaul

Correct Answer :-

« Development/fd®Ta

9) Out of the following after birth child do various physical activities: /STH

uzard g frafafea 3 9 o1 9 wrfifve frart sear e:
1. Heat Regulation/?lmtl?ﬁ?iﬁw

2. Develop Immunity Power/IT UfcRIY® &Hal &1 faemr
3. Digestion/Ura fed

4. All of the above/IWRIad gt

Correct Answer :-
« All of the above/3JuRad g+
10) CANCELLED

Special instructional material is made by: /WWWW%WW
Hﬁ\_rl'l'cﬁ%:

1. University Grant commission/fd=afdure Sfdald 3N
2. Integrated Education in India/Wﬁ‘élﬂWfQT&ﬂ

3. UNICEF/g %
4. All of the above/IWRIad gHt
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Correct Answer :-

« Integrated Education in India/HRd H GHfHd e

11) 10 days Infant is called as:/10 -7 & Ry Fad &
1. Child/fRig
2. Neonate/qaﬁﬂ?rm

3. Abnormal Child/3{{THTY dIcidh

4. None of these/gﬂﬁﬁaﬁ’ﬁcqﬁ

Correct Answer :-

« Neonate/duIrd R

12) Is XY Chromosome are sex determination?/ I XY e fof fAredRor sa

2

1. Right/Tg!

2. Wrong/Tdid

3. Partially Wrong/ 3{ifR1& TTeid

4. None of these/%tl'ﬁ@faﬂ'scﬂﬁ

Correct Answer :-

« Right/9g!

13) Problem child is /AT 9Td &

1. Who steals/iﬁﬂ?b_ﬁam
2. Who is lie/[3 SieH ara
3. Who disobey parents/HTdl fOdl &1 ®g-1 7 |1

4. All of the above/IWRIad It

Correct Answer :-

« All of the above/IWRIad

14) Characteristic of development is / faorg ot fagivan gl @
1. Directional/fe=T#H®

2. Progressive Series of change/WTﬁQﬁﬁ%R@iFlT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

3. Orderly/pHd&
4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/G’lJﬁTﬁ Tt

15) Hyperactivity & Disorder of attention is characteristics of which special

children:/ rfaforariiear aur srae &t srd-aawdar fooa fafdrse aTae o1 favar 8:
1. Learning Disabled,/31fermH fFRI=

2. Backward Child/fUs< ST1ad

3. Gifted Child/UfdHTaT STed

4. Delinquents/dTd SORTE

Correct Answer :-

« Learning Disabled/3ifermH =R

16) Who is founder of pre-school education?/ Jd mag g & s=gar &1 &2
1. Mother Teresa/Hax cXdl

2. MC Millian Sister/H&® e g8

3. Gandhi ji/Tdt it

4. Bandura/sSgX

Correct Answer :-

« MC Millian Sister/3 b {ae S84

17) Special facilities for orphan children is: /314 ¥ & gq faw Jraurd war gt
e

1. Pre-School Programme/qﬁ-@_ﬂtﬁw
2. Reading Improvement Programme/Ud- Q%ﬂ?@l\_ﬂ:ﬂ
3. Comprehensive Programme/W?ZﬁTrFlT

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/IWRIgd IH


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

18) Life vitality of child come in which month:/ I & Sita= aar feq arg &
Sﬂ'cﬂ%:

1. 7 Months/7 HIg
2. 5 Months/5 HIg
3. 6 Months/6 HIg

4. 4 Months/4 Hlg

Correct Answer :-

« 7 Months/7 Hlg

19) Which are the basic principles of special education: /fa= fX1em & gaya

1. Tutoring in functional skiIIs/WWWH&[&IﬂT

2. Emphasis on individualized Instruction/safadiTd 31-121-‘2|-1 R 9

3. Emphasis on awakening of the child senses/dTa®! & TdgAT3{l Bl ST HA W

4. All of the above/IWRiad gHt

Correct Answer :-

. All of the above/SWRIdd T4t

20) Age of Neonate is:/-auiTd fRIY] Ft 1Y fra-t gl 3:
1.10 Days/10 f&q

2. 20 Days/20 fad

3. 35 Days/35 faA

4. 45 Days/45 f&A

Correct Answer :-

« 10 Days/10 faq

21) Characteristics of creativity is: /SISl &1 a1 faRivary gt T
1. Process/m

2. Goal Directed/d&d frdfRrd

3. Create/Jqiq
4. All of the above/IWRIad It
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Correct Answer :-

« All of the above/IWRIdd g4t

22) What are functions of UNICEF:/gf*i% & T4 &7 &:
1. Child Nutrition/fRg] diyor

2. Child Health/RIg W@

3. Child Education/fRrg fRraf

4. All of the above/IWiad G

Correct Answer :-

« All of the above/GCIﬁTﬁl Tt

23) Orphan homes are . /SATYTEYg IAqre gidt @
1. Institutional Services/I®IHE JaTy

2. Non Institutional Services/&lﬂ'wm@?ﬂﬁ

3. Institutional & Non Institutional Services/IRIHA® T4 HARITHD JdT0

4. None of these/378 A ®Is gl

Correct Answer :-

. Institutional & Non Institutional Services/IRITAH® Td RIRITHD JdTd
24) NEONATE means: /7auTd &1 g Y &

1. New/d1

2. Child/d<dl

3. Beautiful/J<X

4. Face/dgl

Correct Answer :-

« New/dd1

25) What are the factor responsible for plateau of Iearning:/?ﬁ@ﬁ%qa'\'a?
PRSP &

1. Polluted Environment/g/¥d aTdraxul

2. Less 1Q/Sfaafs &1 &H g
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3. Not Paying Attention/$aTH = TIHI

4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/IURIdd FHt

26) Genetic diseases is related to: /3R I fraw wafta gar @:
1. Hemophilia/%jﬂﬁﬁﬁ*lm

2. Hypertension/fﬂ’s”cl@@:[

3. Fibrosis/mﬁﬂ

4. None of these/3TH I P15 g

Correct Answer :-

« Hemophilia/feHitsfermr

27) Main characteristics of childhood is:/ Wﬂﬂﬂﬂ'@ﬁﬁﬁﬂ%—
1. Curiosity/formaT

2. PIaying/@FﬂT

3. Reading/UeHl

4. Talking/STd &A1

Correct Answer :-

. Curiosity/ﬁﬁlm

28) Percentage of Hemoglobin in Newborn/9asTd ¥ad § fgwraifa= ufa=d giar 8-
1.17-19 Gram/17-19 UHq

2.19-25 Gram/19-25 U9

3.12-17 Gram/12-17 919

4,.9-12 Gram/9-12 JH

Correct Answer :-

« 17-19 Gram/17-19 UH

29) What is the full form of NIPCCD:/NIPCCD &T TRT -ITH FIT §:


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

1. National institute of public health and child development/ﬂ'@?lmﬂ@aﬁﬁw
BRIIE]

2. National child policy/IsHd &Td Hifd
3. National child board/IT< g ST &1
4. None of these/39H I ®13 gl

Correct Answer :-

« None of these/39H T BIs gl

30) Ma-Ma-Cha-Cha sound is related to:/ HT |7 dT T @f~4] fead Helid 8:
1. Babbling/Ss@rT

2. Gesture/gldHId

3. Comprehension/ 3fi®ad fad

4. None of these/3T8 d ®Is gl

Correct Answer :-
« Babbling/dddl
31) CANCELLED

Pulse Polio programme is started at /9 Uiferal ST ot IR Be

g o

1. 2 October 1999/2 3R 1999

2. 10 November 1980/10 Jd&RR 1980
3.3 January 1998/3 S-dsl 1998

4.10 April 1997/10 3/0d 1997

Correct Answer :-

« 2 October 1999/2 3{dq¢sR 1999

32) Effect of Heredity is:/dRII®HH &1 WHTT FT gIdT &
1. Physical Qualities/TRIR® T&01

2. Social Status/JTHITh &R

3. Character/aiA

4. All of the above/IWRIad i
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Correct Answer :-

« Physical Qualities/RIR® A&

33) Gross movement and fine motor skills is related to:/¥Jd TfafafraT aur J&a
frareoTe S frad w@afta 81d @:

1. Motor Development/farde famr
2. Physical Development/QiI ¥ fdHg

3. Social Development/{-lll-lllr\\siw CEAR

4. Emotional Development/Iaid® fasmm

Correct Answer :-

« Motor Development/forarde® f[d&mm

34) Law of Mendal is related to:/9vsd &1 foraw S Jdfia §:
1. Environment/dTdrdxul

2. Heredity/d=IIIhH

3. Learning/dRaAT

4. Exercise/3¥M{

Correct Answer :-

« Heredity/d=IThH

35) Fetus life depends on:/ nﬂwﬁm\?ﬂzﬁﬁmwi
1. Fallopian tube/av_cﬁﬁ'qqﬂﬁlm

2. Placenta/3{Uxl

3. Nervous system/31g HUST

4. All of the above/IUWRIad It

Correct Answer :-

« Placenta/3ul

36) Theory of regional learning was given by:/ @+ &1 &3ta s~ feas grT
foam &

1. Kohler/m
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2. PavIov/W
3. Lewin/@ﬁ:r
4. Piaget/fS/arsie

Correct Answer :-

. Lewin/dfaq

37) Main AIMS of Viklang punarvas Anusandhan Yojana is:/fa@eit gHar
SFEYT TS BT G- A& T gl 8:

1. Integrated education/Iwford &
2. Normal education/STHr= fRi&f

3. Distance Education/ U=l fRI&m
4. All of the above/JWRIed T+

Correct Answer :-

. Integrated education/Jafed e

38) Stages of speech development is:/HTuT A& Hf s@RMT___ g
1. Pre Speech form of communication/UjﬂTﬂﬂ'UT

2. Speech form of communication/dRdfdd HTST &t ffHeafaaar

3. Both of the above/3UWRIdd Gl

4. Defective Speech/aINgul HTST

Correct Answer :-

« Both of the above/maﬁﬁtﬁ

39) In Infancy girls child weight is than boy/ =MTRIT § FTfereT BT UIR
CIGCEE BT 3-

1. Less/®H

2. More/Sdral

3. Equal/sRTeR

4. None of these/éﬁﬁ@[ﬁ'ﬁc:@'

Correct Answer :-

e Less/HH
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40) Age of Pre-Gang is:/qdeai # Mg 3
1.3to 6 Year/3 ¥ 6 UId

2.2 to 5 Year/2 ¥ 5 9Id

3.6 to 10 Year/6 ¥ 10 9Td

4.6 to 12 Year/6 ¥ 12 9Td

Correct Answer :-
« 3t0 6 Year/3 ¥ 6 9@
41) CANCELLED

Integrated education plan was started in /wﬁm e gie T A
# ury foar -

1. Year 1981/d% 1981
2. Year 1982/d% 1982
3. Year 1994/a% 1994

4. Year 2001/9Y 2001

Correct Answer :-
« Year 1981/9Y 1981

42) special educator & school are for children/ fa=iv fRignfag aur wpa
el & ferd 3

1. Normal Children/3dTHT] dicih
2. Exceptional Children/fafRrme sras

3. School Children/¥g d dleid

4. None of these/378 d ®Is gl

Correct Answer :-

« Exceptional Children/ﬁﬁTlEr CIGED

43) Which are the basic concept of child development:/ aTd fd®™ & gayd
HUGY T :

1. Characteristics of Development/ﬁwﬁﬁ'ﬂw

2. Difference between Growth and Development/fd®T¥ Td gfg & 3f<R
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3. Principles of Development/ﬁmaiﬁ?m
4. All of the above/IURIdd Gl

Correct Answer :-

« All of the above/IURIdd FHt

44) Kinder Garten teaching material is:/ fpues idT ugfa & Rreor arEh %:
1. Gift/3UsRR

2. Mother PIay/WITj’@FT

3. Song/Tﬂ?f

4. All of the above/IWRIed T+

Correct Answer :-

« All of the above/G’CIﬁ‘q‘ﬂ Tt

45) Period of infancy is:/AddTd ﬁl&{[ﬂﬂ 3raf fpa-t gidl 8:

1. Birth - 2 Week/S<1 ¥ 2 9wl

2. Birth - 6 Week/S ¥ 6 I8

3. Birth - 5 Week/S<1 ¥ 5 &g

4. Birth - 8 Week/S ¥ 8 T8

Correct Answer :-

« Birth - 2 Week/S 9 2 9wl
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